Chemical Bonding Worksheet #1 (Ionic Bonding) ANSWE LS
1. . How many valance electrons do the atoms below have?

a. nitrogen atom b. sodium atom c. sulfur atom d. bromine atom
Se” le= be Fe~
2. Draw the Lewis valance electron dot structures for the following atoms:
O a. nitrogen atom b. sodium atom c. sulfur atom d. bromine atom
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€. magnesium atom f. aluminum atom g. carbon atom h. neon atom
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3. Why do atoms become ions? +
\n 0rd fo obtan o stable octeT.
4. How many valance electrons are needed in order for an atom or ion to be stale? (What are the
“magic” numbers?) 2 ; B'I ¥
5. Which type of atom will.always lose valance electrons to become an ion? meta ’S
6. Which type of atom will always gain valance electrons to become an ion? Nor1- mé ta ,.S'

7. When the following become IONS what will the charge be?
4. nitrogen b. sodium  c. suifur d. bromine €. magnesium f. aluminum
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8. Define Ionic Bond:

O 9. Draw the electron dot structures showing the transfer of electrons that occurs when the following
form ionic compounds:

2. calcium and bromlne 5 - b. potassium and bromine
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c. strontium and sulfur d. potassium and chlorine
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e. magnesium and fluorine f. barium and iodine
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10. What is the net charge on each of the above compounds? O Why?
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Chemical Bonding Worksheet #2 (Types of Bonds)
1. Determine the type of bond (ionic, polar covalent, or nonpolar covalent) that will form between the
following atoms. [ Pc nec
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2. Using the table of electronegatfvﬂ} values, calculate the EN difference for the atoms that bonded in dalent
the following table. Then state whether the bond is nonpolar covalent, polar covalent, or ionic. State

which atom has the greater EN, and in your drawing show which atom is partially positive or partially
negative and include any dipole moments or square brackets with charges where appropriate.

Formula EN difference Type of bond Drawing of molecule
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